Chapter 1: Introduction
The Federal Tax Law
This book serves as an introduction to the federal income tax. It does not cover state income tax rules nor other federal taxes such as estate and gift taxes. In terms of revenue raised, the federal individual income tax is very large, raising about $1.66 trillion which represents approximately 48% of federal revenues and a little more than one-third of the federal budget. Many of the rules we will cover apply to all taxpayers including individuals (often called “natural persons”[footnoteRef:1]) as well as corporations. There also are several special rules that apply only to corporate taxpayers, and with minor exceptions we will not look at those special rules. [1:  See §7701(a)(1). The internal Revenue Code is a detailed statute, and an assertion of a tax outcome should include a citation to the statute (and to applicable regulations) whenever possible. In this book, Code sections and other material in footnotes are for your convenience and are not part of the assigned reading. However, Code section and other citations in the text are considered part of the assigned readings along with regulations promulgated under such Code sections.] 

As you may already know, the federal income tax is a collection of federal laws currently found in volume 26 of the United States Code and usually is referred to as the Internal Revenue Code, currently the Internal Revenue Code of 1986 (as amended). Subtitle A of the Internal Revenue Code covers the income tax, and Subtitle A is then divided into multiple Chapters, each Chapter is divided into various Subchapters, etc. 
The Treasury Department is the administrative agency charged with interpreting and enforcing the federal tax laws. Treasury promulgates regulations interpreting and clarifying the tax laws, and the income tax regulations almost always start with “1.” and then are followed by the applicable Code section, so that, for example, the regulations promulgated under section 61 are 1.61-1, 1.61-2, etc. These regulations are promulgated in accordance with the federal Administrative Procedure Act and are entitled to the same level of deference that all federal regulations enjoy.
The Treasury Department, through the Internal Revenue Service (which is a part of the Treasury Department), offers other interpretive guidance. Published guidance includes Revenue Rulings and Revenue Procedures, with the former speaking to substantive issues such as who is taxed on what, while the latter focuses on procedural issues such as who must sign particular forms as well as when and how certain forms must be filed. Private guidance can be requested by a taxpayer on many issues by submitting a complete description of a proposed transaction. If the IRS is willing to provide its conclusion as to the tax consequences of such a transaction, a private letter ruling (“PLR”) will be issued to the requesting taxpayer. Guidance provided via PLR cannot be relied upon by any taxpayer other than the requesting taxpayer.

The Basic Issues
To compute a taxpayer’s tax liability, we multiply his or her “taxable income” by the appropriate tax rate (or rates). In defining taxable income, we should try to ensure that like taxpayers are taxed alike.
If taxpayer A and taxpayer B seem to be in the same economic position, then they should pay the same tax. For example, suppose A buys a share of stock for $100 and sells it for $150 while B buys a different share of stock for $200 and sells it for $250. The amounts A and B receive are different, but they each made a profit of $50 and so should be taxed the same. This is called horizontal equity. If one taxpayer is better off then another, then they should be taxed differently and the one who does better should be taxed more. This is called vertical equity.
If I purchase a share of stock for $100, then I should have income only if I sell it for more than $100. The first $100 of sale proceeds, in other words, is a “return of capital” while anything beyond that is profit. The income tax is a tax on profit.
Suppose a lawyer, a sole practitioner, bills and collects $100,000 from her clients one year. How much taxable income should she report? To answer that question, we need to know the amounts spent to generate the $100,000 such as the cost of supplies, utilities, secretarial help, and so forth. Once again, we want to tax only profit. To do this, we subtract from the lawyer’s receipts (called “gross income”) the various costs incurrent in producing those receipts (called “deductions” because they are deducted from gross income to arrive at taxable income). Thus, taxable income equals gross income less deductions.[footnoteRef:2] [2:  See §63(a).] 

Suppose an associate at a law firm is paid $100,000 when taxes are imposed at a flat 40% rate and the associate has no deductions. The associate will owe $40,000 in income taxes and will retain $60,000 to spend. Suppose the associate wishes to purchase a boat that sells for $25,000. If the boat is purchased out of current funds, the associate will have $35,000 remaining: $100,000 income less $40,000 in taxes and less $25,000 for the boat.
Suppose the associate wishes to purchase the boat at the start of the year, before she has been paid. The seller agrees to deliver the boat immediately in exchange for payment at the end of the year, but the cost is raised to $28,000: $25,000 for the boat and $3,000 interest. If interest is not deductible, the associate will have $32,000 after the purchase. But what if the interest is deductible (it is not deductible under current law[footnoteRef:3] but for many years it was deductible)? Now, the associate’s taxable income is only $97,000, reducing the associate’s income tax liability to $38,800. Accordingly, the associate will end up with $100,000 less $38,800 in income taxes and less $28,000 for the boat plus interest, leaving $33,200. This is $1,200 more than the associate would have if the interest were not deductible. In effect, the interest deduction has reduced the after-tax cost of the boat from $28,000 to $26,800. [3:  See §163(h)(1).] 


Why is the benefit of the interest deduction exactly $1,200? A deduction reduces taxable income: a $3,000 interest deduction allows the associate to avoid paying taxes on $3,000 of income. Because we are assuming the associate is taxed at a flat 40% rate, avoiding income taxes on $3,000 is worth $3,000 times 40%, or $1,200. The dollar value of a deduction equals the dollar amount of the deduction times the applicable tax rate.
On these facts, who benefits from the interest deduction? In one sense, it is the associate. But presumably the interest deduction will allow the seller of the boat to raise the price somewhat. More generally, if two parties to a transaction can reduce the amount of taxes generated by the transaction, they then must negotiate how to split the cost saved. Until 2018, most business meals (especially those eaten while away from home on business) were deductible. Who do you think has lobbied heavily for the deduction of business meals? Presumably hotels that have restaurants. At the end of 2020, Congress again made the cost of business meals deductible, a provision that lasts only two years.
Some activities generate taxable income while others avoid the imposition of the income tax. For example, earning an extra hour of wages generates taxable income while sitting at home watching a rerun of Law and Order does not. Again assuming a flat 40% income tax rate, earning an extra $20 of income leaves the taxpayer with only $12 after taxes. If the taxpayer values an hour watching Law and Order as worth $15, then this taxpayer would work rather than watch in the absence of an income tax but will watch rather than work because of the income tax. This is called a substitutive effect of the income tax because it causes a taxpayer to substitute one behavior for another.
The Tax Base
We use the term “tax base” to describe all of the items that constitute taxable income when received. That is, the tax base is a description of what is taxable to society as a whole and not to a particular member of that society. So, for example, wages, rents, and gains from the sale of property are components of the income tax base. On the other hand, interest on state and local bonds, some prizes, awards, scholarships, and fellowships are not part of the current tax base. Note that the broader the tax base, the greater the amount of revenue that will be raised with a fixed set of rates. When looking at reform proposals, look not only at the proposed set of rates but also at the changes to the tax base.
1. The Income Tax Base and a Uses Analysis
Because the tax base of an income tax is profit (broadly defined), one way of defining the income tax base is the sum of all accessions to wealth less the costs of producing those accessions. But there is an alternative definition that often is more useful, an alternative that focuses not on what comes in but rather on the uses made by the taxpayer of her receipts.

What might a taxpayer do with her receipts? There are three possibilities: (A) reinvest the receipt in some way to yield additional receipts in the current taxable year; (B) reinvest the receipt in a way that will yield additional receipts in a future year; and (C) spend the receipt on some nonprofit-seeking activity. Expenditures described in (A) are the cost of producing current income and so should be deductible in the current year. Expenditures described in (B) (usually called amounts “saved” or “invested”) should only be deducted in the year in which they are spent to produce then-current receipts (and should never be deducted if spent in the future on nonprofit-seeking activity). Expenditures in (C) (usually called “consumption” or “personal expenditures”) should not be deducted because they are not costs of producing income. An example of a type A expenditure is the cost of fuel incurred by a taxi driver: it allows the driver to generate income in the current taxable year (indeed, likely in the next few days). An example of a type B expenditure is the purchase of a share of stock in a company that does not pay dividends: it will generate a profit (if it ever does) only when the share is sold in the (possibly distant) future. And an example of a type (C) expenditure is the cost of a ticket to a Broadway play.[footnoteRef:4] [4:  If the purchaser of the ticket is a professional theatre critic, the expenditure might fall into category (A) rather than (C).] 

From the above, a taxpayer’s taxable income should equal the sum of consumption in the current year plus the net increase (or minus the next decrease) in savings during the current year. Note that consumption funded out of prior savings does not constitute current income: rather, it was taxable income in the year received and invested. Describing income as the sum of current consumption plus the current increase (or less the current decrease) in savings is called the Haig-Simons definition of income.[footnoteRef:5] [5:  Named after Henry Simons and Robert M. Haig. See, e.g., Henry C. Simons, Personal Income Taxation 50 (1938).] 

2. Income Tax vs. Consumption Tax
Another way to describe the tax base under a Haig-Simons definition is that taxable income equals amounts available for consumption whether consumed or not (amounts saved could have been consumed). Using income as the appropriate tax base is premised on the notion that it is fair to impose the cost of government on people’s ability to pay as measured by their annual increase in the ability to consume. An alternative definition of income that often is suggested is a consumption tax base: that is, amounts actually consumed by a taxpayer during the taxable year. Another way to describe the same thing is to say that a consumption tax is nothing but an income tax with a deduction for amounts saved (or invested) during the year. That is, while the income tax base consists of a taxpayer’s annual increase in amounts available for consumption, the consumption tax base equals only actual consumption.
3. Taxation in a Consumption Tax
In an income tax, returns to capital as well as returns to labor are subject to taxation. For example, if a taxpayer purchases an investment asset for $1,000 that will produce annual income of $50 per year (that is, a 5% annual return) and that $50 per year will be subject to the income tax. If the tax rate is 40%, then the tax owed each year will equal $20, leaving the taxpayer with only $30 per year in after-tax funds. That is a 3% after-tax return which equals 60% of the pre-tax return of 5%. In summary, in exchange for giving up $1,000 of immediate consumption, the taxpayer can consume $30 per year indefinitely (assuming investments return 5% per year and the annual tax rate is 40%).
The analysis is the same in a consumption tax except that the taxpayer would be entitled to claim a $1,000 deduction when the investment was purchased. Assuming the taxpayer has other income that can be offset by the deduction, the immediate deduction is worth $400 (i.e., 40% of $1,000). Put another way, in a consumption tax world the after-tax cost of the investment equals only $600 because of the initial deduction. Under certain assumptions (unlikely to be true but possibly close to attainable),[footnoteRef:6] the initial deduction of $600 is mathematically equivalent to an annual deduction of $50 for as long as the investment is held by the taxpayer.[footnoteRef:7] Many people believe that a consumption tax can be implemented more simply than an income tax and that there are ways to make the two equivalent over a taxpayer’s lifetime, but that discussion will have to be left for another day. [6:  These assumptions include the following: (1) all income is subject to a single rate of tax; (2) all deductions provide an immediate value (even if they exceed a taxpayer’s income); and (3) all investments are fully scalable (that is, a taxpayer can invest as much as desired in any asset without a change in percentage return).]  [7:  This means that in present value terms, the initial deduction in a consumption tax is equivalent to an annual deduction of $50, and an annual deduction of $50 will just offset the annual, taxable interest of $50. Accordingly, in present value terms the initial deduction is equivalent to reducing the annual tax to $0.
Alternatively, since we assumed that the taxpayer was willing to give up $1,000 of immediate consumption to make the investment, then in the consumption tax world the taxpayer can invest more before taxes to equalize the after-tax cost. In particular, if the taxpayer is willing to give up a full $1,000 of consumption in the current year, then the taxpayer could invest not merely $1,000 but $1,667 because a 40% deduction of $1,667 equals $667 so that the after-tax cost of a deductible investment of $1,667 is $1,000 (that is, $1667 paid for the investment less the $1,667 deduction (worth $667) from the government).
If this taxpayer invests $1,667 at a 5% return, then the annual 5% income will be $83.35. If that is then used for consumption, it will be taxed at 40%, leaving $50 after taxes. Given that the after-tax cost of the investment was only $1,000, an after-tax return of $50 per year is 5% of the investment’s cost which means the net effective tax rate on the income was 0%. To be sure, the nominal tax rate was 40% per year. But the value of the initial deduction just offsets the annual tax imposition so that the next effect is an after-tax return of 5%, precisely the same as if the investment cost had not been deductible and the annual return had been tax-free. 

] 

Our current federal system includes elements of both an income tax and a consumption tax. Consumption tax elements can be recognized in one of two ways: (1) the cost of an investment producing long-term economic returns is immediately deductible; or (2) the cost of an income-producing asset is not deductible but its return is exempt from tax. Individual Retirement Accounts (IRAs) and similar qualified pension plans are examples of the former while Roth IRAs are an example of the latter. We will cover pension plans latter in this course.
Other Tax Bases

4. Wealth Taxation
Could Congress replace or supplement the income tax with an annual wealth tax? It is not clear that a wealth tax is permitted under the Constitution. Article I, section 9, clause 4 provides that “[n]o capitation, or other direct, tax shall be laid, unless in proportion to the census or enumeration herein before directed to be taken.” There is no clear understanding of the meaning of this language, although one tax scholar has argued that it was intended only to limit the ability to impose taxes directly on the several states other than based on relative populations.[footnoteRef:8] If this interpretation is correct, then the constitution does not impose a constraint on the power of the federal government to impose taxation on individuals (as opposed to on state governments). However, the Supreme Court held in 1895 that the federal government could not impose an individual income tax because of this constitutional language,[footnoteRef:9] a barrier to federal income taxation removed by enactment of the Sixteenth Amendment in 1913. [8:  Calvin H. Johnson, Righteous Anger at the Wicked States: The Meaning of the Founders' Constitution (Cambridge University Press 2005).]  [9:  Pollack v. Farmers’ Loan and Trust Co., 158 U.S. 601 (1895). The federal income tax to the extent imposed on corporations was upheld as an “indirect” or excise tax imposed on the privilege of conducting business in corporate form. Flint v. Stone Tracy Co., 220 U.S. 107 (1911).] 

We already have a federal wealth tax, albeit one not imposed every year but only upon death. The Supreme Court upheld the constitutional validity of inheritance taxes (imposed on the recipients of devises and bequests) as excises taxes based on the privilege of transmission of property, a holding that presumably applies with equal force to the federal estate tax (imposed on the decedent) and federal gift tax (imposed on the transferor).[footnoteRef:10] But this holding does not seem to apply to an annual wealth tax because a wealth tax is imposed without the transfer of property that would support imposition of an excise tax. In recent times, the possible constitutional validity of a federal wealth tax has been subject to substantial debate. [10:  Stebbins v. Riley, 268 U.S. 137 (1925).] 

The administrative difficulties of imposing an annual wealth tax seem to be considerable because of the need to value all assets every year. Some assets such as publicly traded securities could be valued easily, and real estate probably could be valued using market data and artificial intelligence. But for closely held businesses as well for other investments (such as artwork), accurate valuation seems difficult and expensive.
Do you feel that wealth is an appropriate base on which to impose taxation? Consider someone who works for many years to start and expand a business. After twenty or thirty years, this individual sells the business at a significant profit. In an income or consumption tax, the gain from this sale would be taxed once. But under an annual wealth, the funds received from the sale will be taxed every year and, in fact, ultimately the entire proceeds could be taxed away. To be sure, if the rate of the wealth tax is low, this possibility is remote. Nonetheless, it makes plain that a wealth tax can be imposed on the same generated wealth multiple times.
5. Sales and Value-Added Taxes
Because a sales tax is an excise tax imposed on the privilege of acquiring goods, a federal sales tax should be constitutionally secure. Assuming a sales tax is imposed only consumption items, it is another form of consumption tax. Unlike a more traditional consumption tax, it is difficult to apply multiple tax rates. As discussed below, our income tax has multiple tax rates, with the rate of taxation increasing as the taxpayer’s annual income increases (called “progressive” taxation). Constructing a progressive sales tax is difficult because each purchase generally is taxed independent of the taxpayer’s other purchases. In addition, like other forms of a consumption tax, a sale tax is regressive in that the net tax rate generally declines as income (and wealth) increases because, for low income (wealth) taxpayers, consumption comprises a greater percentage of income (wealth).
The Tax Rates
The tax rates applicable to noncorporate taxpayers can be found in §1. Because Congress keeps adding temporary changes to the tax rate schedules, the rates applicable to the current year are found in §1(j). Note that there are separate rate schedules for married individuals filing a joint return, heads of households, unmarried individuals, married individuals filing separate returns, as well as estates and trusts.
Look at the rate schedule for married couples. The first $19,050 of taxable income is taxed at a fixed 10%. Income above $19,050 but not greater than $77,400 is taxed at 12%. Thus, a married couple having exactly $82,500 of income will pay 10% of $19,050 (or $1,905) plus 12% of $77,400 less $19,050 (or $7,002), for a total of $8,907. The rate brackets continue to climb until taxable income in excess of $600,000 is taxed at the highest rate of 37%.
There are two important things to notice about the rate schedules. First, there are distinct schedules for differently situated taxpayers. Second, each rate schedule is progressive in the sense that the tax rates increase as the amount of taxable income increases. Note also that even taxpayers with substantial income enjoy the benefit of the lower rate brackets. For example, a married couple having taxable income in excess of $600,000 will still pay only 10% tax on the first $19,050, then 12% on the next $58,350, etc.
There are additional tax rate provisions. Corporations are taxed at a flat rate of 21% under §11. Net long-term capital gain and dividends are taxed pursuant to §1(h). Section 199A[footnoteRef:11] can be thought of as adjusting the rate schedules for certain non-corporate taxpayers. These provisions will be considered later in the course. [11:  You are not responsible for the details of §199A.] 

If Congress wants to raise additional funds, it can do so in two ways. First, it can increase the tax rates. Second, it can broaden the tax base by making more accessions to wealth taxable (or taxable sooner). If Congress wants to lower the over-all tax burden, it can lower the rates or narrow the tax base. Conceptionally, the specification of the tax base is distinct from the tax rates.
A taxpayer’s marginal tax rate is the rate at which the next dollar of taxable income will be taxed. A taxpayer’s average tax rate is the ratio of the taxpayer’s tax liability divided by the taxpayer’s taxable income. In a system with progressive taxes, a taxpayer’s marginal tax rate will always be greater than or equal to the taxpayer’s average tax rate. 
Question
Q-1. Can you see when they will be equal?

Cost Recovery, Depreciation and Basis
Suppose you buy widgets for $8.00 apiece and sell them for $10.00 apiece. Your taxable income should be $2.00 per widget since we tax net income (profit) rather than gross receipts.
Now suppose you purchase a widget-making machine for $80.00. This machine will make 10 widgets and then it will be worthless. If you can sell those widgets for $10.00 each, how much income should you have over the life of the machine? Twenty dollars, since your total receipts will equal $100.00 and the cost of generating those receipts was $80.00. Your profit equals receipts less costs.
Now suppose you can purchase an upgraded widget-making machine for $100.00 This machine will make an indefinite number of widgets, but it will last only 2 years after which time it will be worthless. In year 1, you make and sell 10 widgets while in year 2 you make and sell 15 widgets, selling each widget for $10.00.
How much taxable income do you have over two years? Since you took in $250.00 and spent $100.00, your income is $150.00. How should that profit be allocated between years 1 and 2? There are many possible answers to this question. How could you justify an allocation of $0 income in year 1 and $150.00 in year 2? Or $50.00 in year 1 and $100.00 in year? Or $60.00 in year 1 and $90.00 in year 2? Which allocation would you most prefer, and which would you least prefer?
The various ways of allocating costs over time are called “depreciation” for tangible property, “amortization” for intangible property, “depletion” for mineral rights, and more generally “cost recovery.” We will study some of the methods of cost recovery in detail later. Recall that the concept of “cost recovery” is missing from a consumption tax because either the investment is deductible in full when made (so that full cost recovery is allowed immediately) or income from the investment is exempted (in which case cost recovery is superfluous). Eliminating the need for cost recovery is one of the most important simplifications offered by a consumption tax as compared with an income tax.
We use the term “basis” (more accurately, “adjusted basis”) to mean the amount of a taxpayer’s investment in some profit-making asset less amounts that have already been used to offset receipts. So, for example, in the example of the upgraded widget machine, the taxpayer’s initial basis equals $100, and if we allow the taxpayer to use $40 of that cost in the first year to offset receipts, then the taxpayer’s adjusted basis will be $60 at the start of year 2.
The Value of Deferral
What is the current value of the right to receive $100.00 in one year? Suppose federal short-term bonds (as close to a risk-free investment as there is) are paying 6% per year, and assume that the tax rate is 40%. On these numbers, if a taxpayer invests $96.53 in a one-year federal bond, the taxpayer will have $102.32 at the end of the year. The taxpayer will have to pay 40% in taxes on the interest income of $5.79, or $2.32, leaving the taxpayer exactly $100.00 after-taxes. Thus, the present value of the right to receive $100.00 in one year is $96.53, assuming the taxpayer’s after-tax, risk-free rate of return equals 3.6% (that is, 60% of 6%).
What is the present value of the right to receive $100 in two years, again assuming an after-tax, risk-free rate of return of 3.6%? The answer is $93.18 because that amount, invested at 6% and subject to an annual tax of 40%, will yield $100 after two years. More generally, the present value of the right to receive $I in n years, assuming an after-tax rate of return of r, is given by the following equation: 
PV = $I / (1 + r)n
Most investments can be expected to produce income over time. The present value of such an investment is nothing but the total of all the present values of the income the investment will generate. For example, the present value of an investment that will generate $100 at the end of its first year and a $150 one year later can be computed (assuming an after-tax rate of return of 3.6%) as follows:

PV = [100 / (1.036)] + [150 / (1.036)2]

Computing the present value of a future event often is called “discounting,” and the interest rate used in the denominator of the fraction (here, 3.6%) is called the discount factor. We can use the same type of analysis to measure the present burden (or cost) of paying an obligation in the future. For example, the obligation of paying $100 in one year, assuming an after-tax, risk-free investment opportunity of 3.6% is $96.53 because the taxpayer can invest that amount immediately and in one year have $100.00 after taxes to discharge the liability. Thus, discounting future receipts and future obligations is the same calculation.
The following chart sets forth the present value of a right to receive $100 (or the present cost of an obligation to pay $100) in n years, discounted at a rate of r, when n goes from 1 through 10 years and r can be 1% through 10% per year.

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	1%
	99.01
	98.03
	97.06
	96.10
	95.15
	94.20
	93.27
	92.35
	91.43
	90.53

	2%
	98.04
	96.12
	94.23
	92.38
	90.57
	88.80
	87.06
	85.35
	83.68
	82.03

	3%
	97.09
	94.26
	91.51
	88.85
	86.26
	83.75
	81.31
	78.94
	76.64
	74.41

	4%
	96.15
	92.46
	88.90
	85.48
	82.19
	79.03
	75.99
	73.07
	70.26
	67.56

	5%
	95.24
	90.70
	86.38
	82.27
	78.35
	74.62
	71.07
	67.68
	64.46
	61.39

	6%
	94.34
	89.00
	83.96
	79.21
	74.73
	70.50
	66.51
	62.74
	59.19
	55.84

	7%
	93.46
	87.34
	81.63
	76.29
	71.30
	68.63
	62.27
	58.20
	54.39
	50.83

	8%
	92.59
	85.73
	79.38
	73.50
	68.06
	63.02
	58.35
	54.03
	50.02
	46.32

	9%
	91.74
	84.17
	77.22
	70.84
	64.99
	59.63
	54.70
	50.19
	46.04
	42.24

	10%
	90.91
	82.64
	75.13
	68.30
	62.09
	56.45
	51.32
	46.65
	42.41
	38.55



[bookmark: _Hlk107155814]Question
[bookmark: _Hlk77521731]Q-2. For any fixed row, the values get smaller moving from left to right. Similarly, for any fixed column, the numbers get smaller moving from top to bottom. Why?

H.	The Role of State Law in Federal Income Taxation
Because the tax statute is a federal statute, the meaning of the words in the tax statute are a question of federal law. For example, the “owner” of business equipment and machinery generally is entitled to claim a depreciation deduction,[footnoteRef:12] and who is the “owner” is a federal question and does not turn on who is called the owner under state law.[footnoteRef:13] But this does not mean state law is irrelevant. In general, the owner of property for federal tax purposes turns on who has the benefits and burdens of ownership (i.e., who profits if the value of the property increases in value and who suffers an economic loss if the value of the property declines in value). Because in general it is state law that determines substantive rights, the federal “benefits and burdens” test turns on rights and responsibilities as defined under applicable state law. Whie state law labels generally do not control federal taxation, state substantive law is the foundation upon which application of the federal statute is constructed. [12:  We will cover depreciation and related concepts in Chapter 2.]  [13:  We will consider the concept of ownership for federal tax principles in subsequent Chapters.] 



I.	Answers to Questions
1. Can you see when they will be equal?
If the taxpayer’s income does not exceed the lowest tax bracket, then all of the taxpayer’s income will be taxed at the same rate. For such a taxpayer, marginal tax rate equals average tax rate.

2. For any fixed row, the values get smaller moving from left to right. Similarly, for any fixed column, the numbers get smaller moving from top to bottom. Why?

A dollar in hand today is worth more than a dollar received in the future because the dollar in hand today can be invested, yielding more than one dollar in the future. Similarly, one dollar to be received in one year is worth more than one dollar to be received in two years because the dollar to be received in one year can be invested, generating more than one dollar at the end of year two. More generally, the longer one must wait for a receipt, the lower the present value of the future receipt. That is why the numbers in the chart decline from left to right.

A dollar in hand is worth more than the right to receive a dollar in one year, but how much more? That depends on how much the investor can earn by investing the dollar for one year: the greater the investment return, the greater the dollar in hand is worth as compared to a dollar to be received in the future. Put another way: the present value of the right to receive a dollar in the future gets smaller as the potential return from the dollar in hand increases. And that is why the numbers in the chart decline from top to bottom.
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